
Central Sector Scheme
of Scholarship

Category: Merit based

Scholarship: Central Sector Scheme of

Scholarship for College and University

Students 2019-20

Description: Department of Higher

Education (MHRD, GOI) is providing

scholarship assistance to meritorious

students from financially challenged

backgrounds for pursuing higher educa-

tion after Class 12 in their chosen disci-

pline.

Eligibility: Students who have passed

their Class 12 examinations within the

80th percentile of relevant stream or

state board, and are enrolled in regular

UG/PG courses at recognised universi-

ties/colleges/institutions may apply for

this scholarship if their family income is

less than INr 8.0 lakhs per annum.

Prizes & Rewards: Selected students

will receive scholarship sum of INR

10,000 per annum for 3-4 year gradua-

tion programmes, INR 20,000 per

annum for post-graduation courses

along with other provisional financial

support based on the duration of stu-

dent’s education programme.

Last Date to Apply: October 31, 2019

Application: Apply online

Short URL: http://www.b4s

.in/nava/CSS11

Education Scheme for
SC Students

Category: Means based

Scholarship: Top Class Education

Scheme for SC Students 2019-20

Description: Students from Scheduled

Caste Communities are invited to apply

for this scholarship programme to

receive scholarship benefits for higher

education. A total of 1500 scholarships

will be provided to selected students to

promote quality higher education for

SC students.

Eligibility: Students from SC communi-

ties who have passed Class 12 with

family income less than INR 6.00 lakhs

per annum may apply for this scholar-

ship if they’re enrolled in any full-time

undergraduate or postgraduate pro-

grammes.

Prizes & Rewards: Selected students

will receive full tuition fee scholarship

up to 3.75 Lakhs per annum, living

expenses of INR 2,200 per month,

books & stationery expenses of INR

3,000 per annum and computer/related

expenses of INR 45,000 (one-time) for

the duration of their UG/PG course.

Last Date to Apply: October 31, 2019

Application: Apply online

Short URL:

http://www.b4s.in/nava/TCE8
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Courtesy: www.buddy4study.com / 

Call: 08448709545, 08527484563

1. Á|ü|ü+#· Ä]úø£ dü<ädüT‡ Á|üø±s¡+ Á|üj·÷D, |üsê´≥ø£
b˛{°‘·‘·« dü÷∫ø£ - 2019 nÁ>∑kÕúq+ ˝À ñqï
<˚X¯+ @~?
1) »bÕHé 2) ôdŒsTTHé
3) ÁbòÕHé‡ 4) »s¡à˙

2. Á|ü|ü+#· Ä]úø£ dü<ädüT‡ ` Á|üj·÷D, |üsê´≥ø£
b˛{°‘·‘·« dü÷N` 2019˝À uÛ≤s¡‘Y sê´+ø˘?
1) 28 2) 25 3) 34 4) 50

3. Á|ü|ü+#· dü«s¡í eT+&É* (&Éã÷¢´Jd”)- 2019
C≤_‘ê Á|üø±s¡+ ã+>±s¡T ì\«˝À¢ nÁ>∑kÕúq+˝À
ñqï <˚X¯+ @~?
1) s¡cÕ´ 2) Ç≥©
3) »s¡à˙ 4) nyÓT]ø±

4. bòÕsY ádtº s¡cÕ´qT dü+<ä]Ù+∫q ‘=* uÛ≤s¡‘· Á|ü<Ûëì?
1) qπs+Á<ä yÓ÷B
2) eTH√àVü≤Hé dæ+>¥
3) n≥˝Ÿ _Vü‰Ø yêCŸù|sTT
4) Ç+~sê >±+BÛ

5. dü«#·Ã¤ uÛ≤s¡‘Y nyês¡T¶\T -2019øÏ >±q÷ 2018-
19˝À¢ dü«#·Ã¤ ø±sê´#·s¡D Á|üD≤[ø£qT neT\T
# ˚dæq+<äT≈ £î  ñ‘·ÔeT nyês¡T¶ ¬>\T#·T≈ £îqï
eT+Á‹‘·« XÊK @~?
1) bÂs¡ $e÷qj·÷q eT+Á‹‘·« XÊK
2) Äj·TTwt eT+Á‹‘·« XÊK
3) s¡ø£åD eT+Á‹‘·« XÊK
4) ¬s’˝Ò« eT+Á‹‘·« XÊK

6. qπs+Á<ä yÓ÷B Ç{°e\ ÁbÕs¡+_Û+∫q |ü~y˚\
mø£sê\ uÛ≤s¡‘·<˚X¯|ü⁄ ‘=* Á^Hé |ò”˝Ÿ¶ Ç+&ÉdæºÁj·T˝Ÿ
kÕàsYº dæ{° ù|s¡T?
1) Ws¡+>±u≤<é Ç+&ÉÁdæºj·T˝Ÿ dæ{° (@j·T÷ÄsY◊d”)
2) Hê>¥|üPsY Ç+&ÉÁdæºj·T˝Ÿ dæ{° (mHé@J◊d”)
3) eTT+u…’ Ç+&ÉÁdæºj·T˝Ÿ dæ{° (m+j·T÷m+◊d”)
4) |üPD… Ç+&ÉÁdæºj·T˝Ÿ dæ{° (|”j·T÷mHé◊d”)

7. @ |ü<∏äø£+ øÏ+<ä  2024 Hê{ÏøÏ nìï Á>±MTD
>∑�Vü‰\≈£î e#˚Ã 5 dü+e‘·‡sê˝À¢ ô|’|t¶ yê≥sY
ø£HÓø£åHé (Vü≤sY|òüTsY»˝Ÿ) n+~+#·&ÜìøÏ Á|üuÛÑT‘·«+
3.5 \ø£å\ ø√≥T¢ yÓ∫Ã+∫+~?
1) »˝Ÿ Á>±MTDY |ü<∏äø£+
2) »˝Ÿ e+<äq |ü<∏äø£+
3) »˝Ÿ JeHé |ü<∏äø£+
4) »˝Ÿ X¯øÏÔ |ü<∏äø£+

8. 2015˝À uÒ{° ã#êy√, uÒ{° |ü&Üy√ (;;;|”)
ø±s¡´Áø£eT+ neT\T #˚dæq ‘·sê«‘· 2018-19
dü+e‘·‡sêìøÏ ôdø˘‡ πswæjÓ÷ m{Ÿ ãsYÔ (mdtÄsY;)

m+‘·?
1) 947 2) 951
3) 913 4) 931

9. ñeTà&ç ñqï‘· kÕúsTT  f…Æ>∑sY bò˛s¡+qT 2020
ìs¡«Væ≤+#ê \ì @ ¬s+&ÉT <˚XÊ\T ìs¡ísTT+#êsTT?
1) uÛ≤s¡‘Y, ÄÁùdº*j·÷
2) uÛ≤s¡‘Y, e÷©›e⁄\T
3) uÛ≤s¡‘Y, nyÓT]ø±
4) uÛ≤s¡‘Y, s¡cÕ´

10. 20e uÛ≤s¡‘Y ` s¡cÕ´ yê]¸ø£ dü<ädüT‡ ` 2019
mø£ÿ&É »]–+~?
1) yê¢~y√k˛ºø˘, s¡cÕ´
2) e÷k˛ÿ, s¡cÕ´
3) ôdsTT+{Ÿ |”{Ÿ‡ãsYZ, s¡cÕ´
4) ø£C≤Hé, s¡cÕ´

11. Á|ü|ü+#· Äs√>∑´ dü+düú≈£î #Ó+~q Äπ>ïj·T Ädæj·÷
ÁbÕ+‘·+ - @ dü+e‘·‡sêìøÏ  |üdæ|æ\¢\ ÁbÕD≤\T
Vü≤]düTÔqï eTVü≤e÷à] yê´<ÛäT\T ` MTõ˝Ÿ‡,
s¡Tu…˝≤¢qT ìs¡÷à*+#ê\ì Á|ü‹qã÷ì+~?
1) 2023 2) 2025
3) 2030 4) 2031

12. ªj·TT<éΔ nuÛ≤´dtµ nH˚ ôd’ìø£ yê´j·÷eT+˝À
bÕ˝§Zqï <˚XÊ\T?
1) uÛ≤s¡‘Y, »bÕHé 2) uÛ≤s¡‘Y, nyÓT]ø±
3) uÛ≤s¡‘Y,  ÄÁùdº*j·÷ 4) uÛ≤s¡‘Y,  s¡cÕ´

13. u≤´+ø±ø˘˝À »]–q Ç+&çj·÷ ` <∏ëjYT˝≤+&é
ø√` Ä]¶H˚f…&é bÕ´Á{À˝Ÿ (Ç+&√ - <∏ëjYT
ø±sêŒ{Ÿ)  28 e m&çwüHé˝À bÕ˝§Zqï Ç+&çj·THé
H˚e˝Ÿ wæ|t (◊mHémdt)?
1)◊mHémdt |òüT]j·T˝Ÿ
2)◊mHémdt  ◊sêe‘Y
3)◊mHémdt  XÊs¡÷›˝Ÿ 4)◊mHémdt  πødü]

14. 2019 dü+e‘·‡sêìøÏ uÛ≤s¡‘Y -  Áo\+ø£ (mdt-
m˝Ÿ) eT<Ûä´ ªmdtm˝Ÿ◊mHéámø˘‡µ ù|s¡T‘√  yês¡+
s√E\ ñeTà&ç düeTTÁ<ä HÍø±<äfi¯ yê´j·÷eT+ -
9e m&çwüHé mø£ÿ&É »]–+~?
1) eTT+u…’, eTVü‰sêÁwüº
2) $XÊK|ü≥ï+, Ä+Á<ÛäÁ|ü<˚XŸ
3) #ÓHÓ’ï, ‘·$Tfi¯Hê&ÉT
4) ‹s¡Teq+‘·|ü⁄s¡+, πøs¡fi¯

15. 2019 ôdô|º+ãsY-nø√ºãs¡T\˝À »s¡>∑qTqï »bÕHé-
uÛ≤s¡‘Y - j·TTmdt Á‘Ó’bÕøÏåø£ düeTTÁ<ä yê´j·÷eT+ @~?
1) $T\Hé 2019 2) Çã‡eTsY 2019
3) es¡TD 2019 4) eT\u≤sY 2019

16. uÛ≤s¡‘· ¬s’˝Ò« XÊK ‘=* ª|òüHé CÀHéªqT Ç{°e\ @
¬s’˝Ò« ùdºwüHé˝À @sêŒ≥T #˚dæ+~?
1) ñ<Ûä+|üPsY ¬s’˝Ò« ùdºwüHé
2) ns¡≈£î ¬s’˝Ò« ùdºwüHé

3) dæøÏ+Á<ëu≤<é ¬s’˝Ò« ùdºwüHé
4) $XÊK|ü≥ï+  ¬s’˝Ò« ùdºwüHé

17. 2013-17 dü+e‘·‡sêìøÏ ]õÁkÕºsY »qs¡˝Ÿ Ä|òt
Ç+&çj·÷- qeT÷Hê ]õÁùdºwüHé düπs« (mdtÄsY
mdt) Á|üø±s¡+ uÛ≤s¡‘Y˝À Äj·TTsê›j·T+ m+‘·?
1) 69 @fi¯ó¢ 2) 70 @fi¯ó¢
3) 65 @fi¯ó¢ 4) 62 @fi¯ó¢

18. @ sêÁcÕº˝À¢ »ìà+∫q eT> ∑, Ä&É yê]
Äj·TTsê›j·T+ 73.3 @fi¯ó¢, 77.8 dü+e‘·‡sê\‘√
m≈£îÿe ø±\+ J$+#·&ÜìøÏ neø±X¯+ ñ+~?
1) Væ≤e÷#·˝Ÿ Á|ü<˚XŸ, πøs¡fi¯
2) |ü+C≤uŸ, #Û·rÔdt>∑&Ûé
3) #Û·rÔdt>∑&Ûé, ñ‘·Ôs¡ Á|ü<˚XŸ 4) &Ûç©¢, πøs¡fi¯

19. ◊ø£´sê»´dü$T‹  ªÁ|ü|ü+#· »HêuÛ≤ neø±XÊ\Tµ
ìy˚~ø£ Á|üø±s¡+ 2019 dü+e‘·‡sêìøÏ Á|ü|ü+#·
Äj·TTsê›j·T+ m+‘·?
1) 80.3 @fi¯ó¢ 2) 72.6 @fi¯ó¢
3) 75.5 @fi¯ó¢ 4) 74.5 @fi¯ó¢

20. u≤´+≈£î\T @ πs≥T‘√ nìï ø=‘·Ô s¡ø±\ bò˛¢{Ï+>¥
πs{Ÿ s¡TD≤\qT (>∑�Vü≤, Ä{À s¡TD≤\T - m+mdt
m+á) nqTdü+<Ûëì+#ê\ì uÛ≤s¡rj·T ]»sY«
u≤´+ø˘ dæbòÕs¡T‡ #˚dæ+~?
1) u≤´+ø˘ πs≥T 2) ¬sb˛ πs≥T
3) e÷]®q˝Ÿ kÕº+&ç+>¥ ô|òdæ*{° πs{Ÿ
4) ]esY‡ ¬sb˛ πs≥T

21. 2019- 20 @Á|æ˝Ÿ -pHé yÓTT<ä{Ï Á‘Ó’e÷dæø£+ (≈£L´
1) ˝À uÛ≤s¡‘Y˝ÀøÏ $< ˚o Á|ü‘·´ø£å ô|≥Tºã&ÉT\
(m|òt&û◊) n‹ô|<ä› eqs¡T>± ne‘·]+∫q <˚X¯+ @~?
1) HÓ<äsê¢+&é‡ 2) e÷]wüdt
3) nyÓT]ø± 4) dæ+>∑|üPsY

22. C…+>ö® ø£yÓ÷&ç{° mπø‡Ã¤+CŸ (C…&éd”á)‘√, uÛ≤s¡‘Y≈£î
#Ó+~q @ edüTÔe⁄\ e÷]Œ&ç düVü≤ø±s¡+, düe÷
#ês¡ e÷]Œ&ç ø√dü+ ne>±Vü≤q ˇ|üŒ+<ä+
≈£î<äTs¡TÃ≈£î+~?
1) H˚wüq˝Ÿ kÕºø˘ mø˘‡#Û˚+CŸ(mHémdtá)
2) H˚wüq˝Ÿ ø£yÓ÷&ç{°-&Ó]y˚{°yé‡ mø˘‡#Û˚+CŸ *$Tf…&é
(mHéd”&ûámø˘‡)
3) eT©º ø£yÓ÷&ç{° mø ˘‡#Û ˚+CŸ Ä|òt Ç+&çj·÷
(myéTd”mø˘‡)
4) yÓTÁ{ÀbÕ*≥Hé kÕºø˘  mø˘‡#Û˚+CŸ  (myéTmdtá)

23. Ç{°e\ yês¡Ô˝À¢ ì*∫q n–ïnÁdüÔ,  ÁãVü‰àÁdüÔ,
˙e÷ÁdüÔ nH˚$ @ s¡+>±ìøÏ #Ó+~q$?
1) s¡ø£åD s¡+>∑+ 2) ãjÓ÷f…ø±ï\J
3) düTHêï Ä<Ûë]‘· e´ekÕj·T+ 4) ô|’e˙ï

24. ªÁø£jÓ÷Á&Ü¬øHé uÀ]j·Tdtµ n+fÒ @$T{Ï?
1) sê¬ø{Ÿ 2) ø=‘·Ô C≤‘·T\T
3) ø=‘·Ô s¡ø£+ $‘·Ôq+ 4) ø=‘·Ô ùdŒdt Áø±|òtº

25. øÏ+~ yê{Ï˝À <˚ìì <äøÏåD≤dæj·÷˝ÀH˚ yÓTT<ä{Ï
Áø±dtuÀs¡¶sY ô|Á{À*j·T+ ô|’|t˝…’Hé nì |æ\TkÕÔs¡T?
1) #·u≤“sY b˛s¡Tº ô|’|t˝…’Hé
2) yÓ÷rVü≤]- ny˚T¢UŸ>∑+J ô|’|t˝…’Hé
3) 1, 2
4) Væ≤e÷\j·THé ô|Á{À*j·T+ ô|’|t˝…’Hé

kÕÿ\sYwæ|t‡

b˛{° |üØø£å\ Á|ü‘˚´ø£+
ø£¬s+{Ÿ nô|ò’sY‡

1.2 2.3 3.4 4.1 5.4
6.1 7.3 8.4 9.4 10.1
11.1 12.2 13.4 14.2 15.4
16.4 17.1 18.4 19.2 20.2
21.4 22.3 23.3 24.2 25.2

düe÷<ÛëHê\T

uÛ≤s¡‘· ¬s’˝Ò« ‘=* ª|òüHé CÀHéªqT @ ¬s’˝Ò« ùdºwüHé˝À @sêŒ≥T #˚dæ+~?



13
ôV’≤<äsêu≤<é 

ãT<Ûäyês¡+ 16.10.2019

5. Find the equation of the straight

lines passing through the point (-

3,2) and making an angle of 45o

with the straight line 3x – y + 4 = 0.

Sol: Given point

P(x1,y1)=(-

3,2)

Given line 3x

–y+4=0 .........

(1)

Slope = m = -

a/b=3

6. Each side of a square is of length 4

units. The centre of the square is

(3,7) and one of its diagonals is par-

allel to y = x. Find the co-ordinates

of its vertices.

Sol: Let ABCD be the square.

From P drawn PM⊥AB. Then M is

midpoint of AB.

∴AM = MB = PM = 2

Since a diagonal is parallel to y = x,

its sides are parallel to The co-ordi-

nates axes.

M(3,5)⇒A(1,5), B(5,5), C(5,9), D(1,9)

7. A person standing at the junction

(crossing)  of two straight paths

represented by the equations 2x –

3y + 4 = 0 and 3x + 4y – 5 = 0 wants

to reach the path whose equation is

6x – 7y + 8 = 0 in the least time.

Find the equation of the path he

should follow.

Sol: By solving  2x – 3y + 4 = 0

3x + 4y – 5 = 0

Given line 6x – 7y + 8 = 0

Required line is 7x + 6y + k = 0

8. Find the orthocenter of the triangle

formed by the lines.x+2y=0, 4x+3y-

5=0 And 3x+y=0

Sol: Equation of AB is x + 2y = 0

Equation of BC is 4x+3y-5=0

Equation of AC is 3x+y=0

Solving (1) and

(2) Co- ordinates

of A are (0,0)

4x – 8 = 0⇒4x = 8, x = 2

Co-ordinates of B are (2,-1)

Equation of BC is 4x+3y-5=0

AB is perpendicular to BC and pass-

es through A(0,0)

Equation of AB is 3x – 4y = 0

BE is perpendicular to AC

∴Equation of BE is x – 3y = k

BE passes through B (2, - 1) 

2+3=k⇒k = 5

Equation of BE is x-3y-5=0

∴Orthocentre is O(-4,-3).

9. If p and q are the lengths of the per-

pendiculars from the origin to the

straight lines xsec�+ycos�=a and

xcos�-ysin�=acos2�, prove that

4p2+q2=a2

Sol: Equation of AB is xseca+ycosa=a

Mr. K. Kumar
Senior Faculty

Hyderabad

ph:9492956214

1st year MATHS

Intermediate
Special

Q

R

m

450

P

(-3,2)

-3x-y+4=0

o m - 3 m - 3
Tan45  =  ;  = 1

1+3m 1+3m

m - 3
Case (i)  = 1

1+3m

m - 3 = 1 + 3m

2m = - 4 or m = - 2

Case (ii)

m - 3
= -1 m - 3 = -1- 3m 

1+3m

4m = 2 m = 1 / 2

Case (i) m = - 2

Equation of  the line PQ is

y - 2 = - 2(x+3) = - 2x -6

2x+ y+4 = 0

Case (

⇒

⇒

( )
the required lines are 2x+ y + 4 = 0

ii)

1
m =    Equation of  the line PQ is 

2

1
y - 2 = x+3  x - 2y+7 = 0

2

And x - 2y+7 = 0

∴

⇒

M

P

B

CD

A

-3 -3

34

24

4-5

x y 1
= =

15 -16 12+10 8+9 

2x-3y+4=0

6x-7y+8=0

3x-4y-5=0

x y 1 -1 22
= = x = , y =

-1 22 17 17 17

-1 22
Eq (1) pass high ,

17 17

-1 22
7 + +k = 0 

17 17

- 7 + 132 + 17k = 0 

-125
17k = - 125 ;    k = 

17

125
From (1) 7x+6y - = 0

17

119x+102y -125 = 0

 
 
 

   
   
   

( )4x+8y = 0 1 ×4

4x+3y - 5 = 0

5x+5 = 0 y = -1

A

CB

E

O

P

4x+3y-5=0

3x+y=0x+2y=0

-4
0

-4

1

1
yx

-3

3

-3-5

1
4, 3

20 15 9 4

x y
x y= = = − = −

− +

...............

2 2

x y
+ = a

cos sin

xsin + ycos = asin cos  

xsin + ycos - asin cos  = 0 

p = length of  the perpendicular

0+0 - asin cos
from O and AB = 

sin +cos

sin2
= asin .cos = a.

2

2p = asin2  (1)

Equation of  CD is x

α α
α α α α
α α α α

α α

α α
α

α α

α

2 2

2

2 2 2 2 2 2

2 2

acos2 xcos - ysin - acos2 = 0

cos - ysin =

q = length of  the perpendicular

0+0 - acos2
fromO to Cd = 

cos sin

= acos  ................ (2)

Squaring and adding (1) and (2)

4p +q = a sin 2 +a cos 2

= a sin 2 +cos

α α α α

α α

α

α α
α

α α

α

⇒

+

2 2 2
2a = a .1= a

Δ ie

r r r r

10. The Cartesian equations of  the sides

 BC ,CA and AB of   are respectively

 u = a x + b y + c = 0,r = 1,2,3. Show

   that the equation of  the straight lin e

r r r r
 u = a x + b y + c = 0,r = 1,2,3. Show

   that the equation of  the straight lin e

   passing through A and bisecting the

   side BC is 

( ) ( )
( )

2 2 2

3

1 1 2 2

3 3

2 3 2 3

2 3 2 3

2

 Let A = x , y ,B = x , y ,

C = x , y

Let D be the midpoint of  BC. Then

x + x y + y
 D = ,

2 2

Equation of  AD is u + u = 0

D lies on this line 

x + x y + y
a b c

2 2

x +
a

µ µ

λ

λ

 
 
 

⇒

   + + +   
   

3 2

3 1 1 3 1 2 2 2

2 3

=
a b - a b a b - a b

Sol :

( ) ( )
( ) ( )

( ) ( ) ( )
( ) ( ) ( )

( ) ( )
( ) ( )

3

2 2 2

3 3 3

2 2 2 2

3 3 3 3

2 2

3 3

2 2

0

2

2

2

2

3 2 3

2 3 2 3

2 3 2 3

2 3 2 3 3 3

2 3 2 3 2 2

3 2 3 2

3 2 3 2

3 2

3

x y + y
+b

2 2

a x + x b y + y c

a x + x b y + y c

a x + x b y + y a x b y

a x + x b y + y a x b y

(  B lies on , C lies on )

a x - x b y - y

a x - x b y - y

y - y
a b

x -

λ

µ µ

     =        
+ +

=
+ +

+ − +
=

+ − +

+
=

+

+
=

� 3 2

( )
( )

3 3

2 2 1 1 2 1 1 2

3 3 1 1 3 1 1 3

2 1 1 2
2 3

3 1 1 3

3 2
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$T\≥Ø Vü‰dæŒ≥˝À¢ b˛düTº\T
»ã˝Ÿ|ü⁄sY (eT<Ûä´Á|ü<˚XŸ) $T\≥Ø Vü‰dæŒ≥˝Ÿ ø±sê´\j·T+˝À
$$<Ûä b˛düTº\ uÛÑØÔøÏ <äs¡U≤düTÔ\T ø√s¡T‘√+~.
$esê\T:
yÓTT‘·Ô+ b˛düTº\ dü+K´: 22
yêwüsYe÷´Hé: 04
dübòÕsTTyê© (m+{°mdt): 05
yêsY¶ düVü‰j·Tø£: 10
yÓTôd+»sY (m+{°mdt): 01
u≤s¡“sY: 01
≈£îø˘: 01
ns¡Ω‘·: |ü<√‘·s¡>∑‹ ñrÔs¡í‘·‘√bÕ≥T dü+ã+~Û‘· ÁfÒ&ÉT˝À
|ü]C≤„q+.
ej·TdüT: 18-25 dü+e‘·‡sê\ eT<Ûä´ ñ+&Ü*.
m+|æø£ $<Ûëq+: sê‘·|üØø£å, dæÿ˝Ÿ/ ÁfÒ&é f…dtº Ä<Ûës¡+>±.
<äs¡U≤düTÔ $<Ûëq+: Ä|òt˝…’Hé
<äs¡U≤düTÔ\≈£î ∫e]‘˚~: nø√ºãs¡T 25, 2019.
nÁ&Édt: The Commandant, Military Hospital,

Jabalpur (M.P.) & 482001.

|üP]Ô $esê\≈£î yÓuŸôd’{Ÿ: http://madhya-prade

sh.20govt.com/military-hospital-jabalpur-

recruitment-mts/

neø±XÊ\T
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to be continued

Find the orthocenter of the triangle formed by the lines


